Practice 11.5

Name

Graph the function. Compare to the graph of y = x2 that is already drawn. Note how the graph
changes from the graph of y = x2.

1) fx)=x2-5




3)  G(X)=(x+4)2

4 HX)=(x-7)2




5)  f(X)=(x+2)2+2




7)  hx)= %(x—4)2 -3

Give the vertex and axis of symmetry.

8) f(x)=x2+1

9) f(x)=(x+5)2-4

10)  f(x) = - %(x +5)2-4
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3)  G(X)=(x+4)2

4 HX)=(x-7)2

H(X) =(x~ ?) z4-0

....... lll. . 10 y C
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5)  f(x)=(x+2)2+2
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D hw=leca?-3 seckey (4,-3)

Give the vertex and axis of symmetry.

2
8) fx)=x2+1 g(f) = 6(‘03 +

vertex (ou’>
Axis ok Symmetry x=0

D M=o begr (574D .
a cis o) symmekey: X=°

10) 100=-20+52-4  yorbee: (-5,~Y)
Axis ok symmelry: x<=S
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